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1.2 SCPI

372XA SCPI

IEEE488.2

CURRent:PROTection:STATe ON
CURRent PROTection STATe

1.2.1 SCPI

1211

STATUS
LOW LEVEL

STATUS
LOW LEVEL

LLEVel

LLEV

STATus

STAT
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o 4 4 4
4 (AE,1,0,U) 3

1.21.2

o TRIGger
o IMMediate
o RESistance

o SHORt

SCPI Trig,trig  trigger
TRIGGER

RESI TRI

1.2.2

INPut:PROTection:CLEar

CURR:PROT:LEV 3;DEL 10
CURR:PROT:LEV 3

CURR:PROT:DEL 10

CURR 25;:VOLT 50 100
-521
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ON OFF
ASCII 1-1
1-1
<NR1> 2730 02730
<NR2> 27.30 .02730
<NR3> 2.730 E+2 2.730E-2
<NRf> NR1 NR2 NR3 2730 27.30 2.730E-2
<NRf+> NRf MIN MAX 2730 27.30 2.730E-2 MIN
MIN MAX MAX
<Bool> ON|OFF
<crd> CcVv
<aard> ASCI|

ASCII
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1.2.3.2
1-2 1-3
1-2
Current A
Resistance OHM
MOHM
Time S
Amplitude V
Power W
1-3
1E6 MA
1E3 K
1E-3 M
1E-6 U
1E-9 N
1.2.4
LF IEEE-488 EOI
LF LF CR
RS-232C
Pin Input/Output Description
1 - Not used
2 Input RXD Receive data
3 Qutput TXD Transmit data
4 Qutput DTR Data terminal ready
5 Common GND Ground
6 Input DSR Data set ready
7 - Not used
8 - Not used
9 - Not used
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RS232C

PC

*IDN?(CR+LF) (CR=0x0D,LF=0x0A)

ARRAY,3721A,0,1.10-0.0-0.0(CR+LF)
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1.3
131

VOLT 25
CURR 50
TRIG

1.3.2

VOLT:SLEW 1000
CURR:RANG 6
TRIG:SOUR BUS

[]
CURRent[:LEVel]:TRIGgered 0.5

1
CURRent:TRIGgered 0.5

134

VOLT:TRG?
CURR:PROT?
MEAS:POW?
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2. SCPI
2.1 |EEE488.2
IEEE488.2
IEEE488.2
*CLS
o
o
o
o
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*CLS
*ESE
1
*ESE<NRf>
0 255
*PSC
*ESE 100
*ESE?
<NR1>0 255
*PSC *STB?
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*ESR?
2-1
7 6 5 4 3 2 1 0
PON N.U CME EXE DDE QYE N.U OPC
PON DDE
QYE
N.U Null QYE
CME N.U Null
EXE OPC
*ESR?
<NR1>
*CLS *OPC
*IDN?
*IDN?
<aard>

ARRAY,3721A,0,1.10-0.0-0.0

GPIB
USB
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*RCL
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0 0 *OPC
*OPC
*WAI  *OPC
ASCIl 1 *OPC
EXT
DCL( )
*OPC?
<NR1>

*OPC TRIG:SOUR *WAI

*PSC <bool>
0|1

*PSC?

0|1

*SRE *ESE
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*RST

*SAV

©

*SRE
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*RCL

ABORt (

INP:PROT:CLE
*RCL O

*RCL <NR1>
0 9
RCL 5
*RST *SAV

ABORt
*RST INP:PROT:CLE

*RST

*RCL *SAV

10

*SAV <NR1>
0 9
*SAV 5
*RCL *RST

RQS
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*STB?

*TRG

*TST?

*WAI

<GET>
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*SRE <NR1>
0 255
*SRE?
<NR1>

*PSC

*STB?
( 6)

*STB?

<NR1>

*TRG

TRIG TRIG:SOUR

*TST?
<NR1>0= 0 =
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AWA
DCL( )

*WAI

*OPC *OPC?
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2.2 SCPI

:ROOT

SOURCce:

|
RESistance | RESistance |
:LEVel | :LEVel |

[:IMMediate] [:IMMediate]
:TRIGgered :TRIGgered

:LLEVel

:LEVel :LEVel

[:IMMediate] [:IMMediate]

:TRIGgered :TRIGgered

:PROTection :LLEVel

[:LEVell] ‘HLEVel ‘HLEVel

0
Wi

:DELay

:STATe

:LLEVel

‘HLEVel

‘RISE

‘RATE

‘FALL

‘RATE
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:ROOT

SOURCce:

1
| POWer | TRANSsient
| :LEVel | [:STATe]

[:IMMediate] | :MODE
:TRIGgered | ‘HTIMe

LTIMe

‘RTIMe

:FTIMe

BRI §




:ROOT
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MEASure

:VOLTage

[:DC]?

:CURRent

[:DC]?

:POWer

[:DC]?

:RESistance

[:DC]?

FRe

INPut

[:STATe]

:SHORt

[:STATe]

:PROTection

i

:CLEar

:VOLTage

Gl

:ON

[:LEVell]

:LATCh
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[:STATe]

:CLEar

:NUMBer

:MEMO

%
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O

JINSert

:EDIT

:DELete

il

ALL

:COUNt

:CHAINn

:SAVe

il
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:ROOT ‘

—— ]

TRIGger

[:IMMediate]

:SOURce

:FUNCtion

il

CV:CURRent:LIMIt

[ cvevrmenim |

:ROOT

il

BATTery

[:STATe]

:VOLTage

:OFF

:DIScharge

:CURRent

:CAPAcCity?

" TIME?

i

— T T

| ABORt | | STATus |

MODE

:QUEStionable

[:EVENLt]?

:CONDition?

il

ENABIle?

| SYSTem
| :QUEStionable | ‘ERRor?
[:EVENL]? :VERSion?
==
:CONDition? ‘REMote
==
ENABIle? :LOCal
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2.2.1 CURRent

[SOURce:]CURRent[:LEVel][IMMediate]
CURR? MIN  CURR? MAX

[SOURce:]CURRent[:LEVel]:IMMediate] <NRf+>
IMIN|MAX

A

CURRS5 CURR 50mA

[SOURCce:]CURRent[:LEVel][:IMMediate]?
IMIN|MAX

<NR3>

CURR? CURR? MIN CURR? MAX

MODE

[SOURce:]CURRent[:LEVel]:TRIGgered

[SOURce:]CURRent[:LEVel]:TRIGgered <NRf+>
IMIN|MAX
A
CURR:TRIG 5 CURR:TRIG 50mA
[SOURCce:]CURRent[:LEVel]:TRIGgered?
IMIN|MAX
<NR3>
CURR:TRIG? CURR:TRIG? MIN CURR:TRIG? MAX
MODE TRIG

[SOURce:]CURRent:PROTection[:LEVel]

0-40A
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[SOURce:]CURRent:PROTection[:LEVel] <NRf+>
IMIN|MAX
A
CURR:PROT 15
[SOURce:]CURRent:PROTection[:LEVel]?
IMIN|MAX
<NR3>
CURR:PROT? CURR:PROT? MIN CURR:PROT? MAX
INP:PROT:CLE

[SOURce:]CURRent:PROTection:DELay

[SOURce:]CURRent:PROTection:DELay <NRf+>
IMIN|MAX
s
CURR:PROT:DEL 0.5
[SOURce:]CURRent:PROTection:DELay?
IMIN|MAX
CURR:PROT:DEL?;CURR:PROT:DEL? MIN;CURR:PROT:DEL? MAX
<NR3>
INP:PROT:CLE

[SOURce:]JCURRent:PROTection:STATe
[SOURCce:]CURRent:PROTection:STATe <bool>
ON|OFF
CURR:PROT:STAT ON

[SOURce:]CURRent:PROTection:STATe?

CURR:PROT:STAT?
<NR1> 0 OFF 1 ON

24
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INP:PROT:CLE

[SOURce:]CURRent:LLEVel

[SOURce:]CURRentc:LLEVel <NRf+>

IMIN|MAX
A
CURR:LLEVel 3
[SOURce:]CURRent:LLEVel?

IMIN|MAX
CURR:LLEV? CURR:LLEV? MIN CURR:LLEV:? MAX
<NR3>
TRANSsient

[SOUR:]JCURR:HLEVel

[SOURce:]CURRent:HLEVel

[SOURce:]CURRentc:HLEVel <NRf+>
IMIN|MAX

A

CURR:HLEVel 3

[SOURce:]CURRent:HLEVel?

IMIN|MAX
CURR:HLEV? CURR:HLEV? MIN CURR:HLEV:? MAX
<NR3>
TRANSsient
[SOURce:]CURRenNt:RISE:RATE
CURR:RISE:RATE? MIN CURR:RISE:RATE? MAX

[SOURce:]CURRentc:RISE:RATE <NRf+>
[IMIN|MAX

25



ARR372X_TAC_J_SCPI

3720A 3721A SCPI

CURR:RISE:RATE 3
[SOURce:]CURRenNt:RISE:RATE?
IMIN|MAX
CURR:RISE:RATE? CURR:RISE:RATE? MIN CURR:RISE:RATE? MAX
<NR3>
MODE CURR

[SOURce:]CURRent:FALL:RATE
CURR:FALL:RATE? MIN CURR:FALL:RATE? MAX

[SOURce:]CURRentc:FALL:RATE <NRf+>
IMIN|MAX
A
CURR:FALL:RATE 3
[SOURce:]CURRenNt:RISE:RATE?
IMIN|MAX
CURR:FALL:RATE? CURR:FALL:RATE? MIN CURR:FALL:RATE? MAX
<NR3>
MODE CURR
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2.2.2 VOLTage
[SOURce:]VOLTage[:LEVel][IMMediate]
VOLT? MIN  VOLT? MAX

[SOURCce:]VOLTage[:LEVel][:IMMediate] <NRf+>
IMIN|MAX

\%

VOLT 5

[SOURCce:]VOLTage[:LEVel][:IMMediate]?
IMIN|MAX

<NR3>

VOLT? VOLT? MIN VOLT? MAX

MODE

[SOURce:]VOLTage[:LEVel]:TRIGgered

[SOURCce:]VOLTage[:LEVel]:TRIGgered <NRf+>
IMIN|MAX
\%
VOLT:TRIG 5
[SOURCce:]VOLTage[:LEVel]:TRIGgered?
IMIN|MAX
<NR3>
VOLT:TRIG? VOLT:TRIG? MIN VOLT:TRIG? MAX
MODE TRIG

[SOURce:]VOLTage:LLEVel

[SOURCce:]VOLTagec:LLEVel <NRf+>
[IMIN|MAX
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VOLT:LLEVel 3
[SOURce:]VOLTage:LLEVel?
IMIN|MAX
VOLT:LLEV? VOLT:LLEV? MIN VOLT:LLEV:? MAX
<NR3>
TRANSsient
[SOUR:]VOLT:HLEVel

[SOURce:]VOLTage:HLEVel

[SOURCce:]VOLTagec:HLEVel <NRf+>
IMIN|MAX
\%
VOLT:HLEVel 3
[SOURCce:]VOLTage:HLEVel?
IMIN|MAX
VOLT:HLEV? VOLT:HLEV? MIN VOLT:HLEV:? MAX
<NR3>
TRANSsient

2.2.3 RESistance
[SOURce:]RESistance[:LEVel][IMMediate]
RES? MIN  RES? MAX

[SOURCce:]RESistance[:LEVel][:IMMediate] <NRf+>
IMIN|MAX

OHM

RES 5

[SOURCce:]RESistance[:LEVel][:IMMediate]?
IMIN|MAX

<NR3>

RES? RES? MIN RES? MAX

MODE

28
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[SOURce:]RESistance[:LEVel]:TRIGgered

[SOURCce:]RESistance[:LEVel]:TRIGgered <NRf+>
IMIN|MAX

OHM

RES:TRIG 5

[SOURCce:]RESistance[:LEVel]:TRIGgered?
IMIN|MAX

<NR3>

RES:TRIG? RES:TRIG? MIN RES:TRIG? MAX

MODE TRIG

[SOURce:]RESistance:LLEVel

[SOURCce:]RESistancec:LLEVel <NRf+>

IMIN|MAX
OHM
RES:LLEVel 3
[SOURCce:]RESistance:LLEVel?

IMIN|MAX
RES:LLEV? RES:LLEV? MIN RES:LLEV:? MAX
<NR3>
TRANSsient

[SOUR:]RES:HLEVel

[SOURce:]RESistance:HLEVel

[SOURCce:]RESistancec:HLEVel <NRf+>

IMIN|MAX

OHM
RES:HLEVel 3
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[SOURCce:]RESistance:HLEVel?
IMIN|MAX
RES:HLEV? RES:HLEV? MIN RES:HLEV:? MAX
<NR3>
TRANSsient

2.2.4 POWer
[SOURce:]POWer[:LEVel][IMMediate]
POW? MIN  POW? MAX

[SOURCce:]POWer[:LEVel][:IMMediate] <NRf+>
IMIN|MAX

W

POW 5 POW 10mwW

[SOURCce:]POWer[:LEVel][:IMMediate]?
IMIN|MAX

<NR3>

POW? POW? MIN POW? MAX

MODE

[SOURce:]POWer[:LEVel]:TRIGgered

[SOURce:]POWerl[:LEVel]:TRIGgered <NRf+>
IMIN|MAX
W
POW:TRIG 5
[SOURce:]POWer[:LEVel]:TRIGgered?
IMIN|MAX
<NR3>
POW:TRIG? POW:TRIG? MIN POW:TRIG? MAX
MODE TRIG
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2.2.5 TRANSsient
[SOURce:]TRANsient[:STATe]
ON OFF

TRANSsient[:STATe] <bool>
ON|OFF

TRANsient ON
TRANSsient[:STATe]?
<NR1> 0=OFF 1=0ON

[SOURce:]TRANsient:MODE

CONTinuous
PULSe ( )
TOGGle

[SOURCce:]TRANsient:MODE <aard>
CONTinuous|PULSe|TOGGIe
TRANsient:MODE PULSe
TRANsient:MODE?
<aard>CONT,PULS, TOGG

TRIG

[SOURce:]TRANsient:HTIMe

[SOURce:]TRANsient:HTIMe <NRf+>
digit| MIN|MAX
s
TRANsient:HTIMe 500ms
TRANsient:HTIMe?
IMIN|MAX
TRAN:HTIMe? TRAN:HTIMe? MIN TRAN:HTIMe? MAX
<NR3>
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[SOURce:]TRANsient:LTIMe

[SOURce:]TRANsient:LTIMe <NRf+>
digit| MIN|MAX
s
TRANSsient:LTIMe 500ms
TRANSsient:LTIMe?
IMIN|MAX
TRAN:LTIMe? TRAN:LTIMe? MIN TRAN:LTIMe? MAX
<NR3>

[SOURce:]TRANsient:RTIMe

[SOURce:]TRANSsient:RTIMe <NRf+>
digit| MIN|MAX
s
TRANSsient:RTIMe 500ms
TRANsient:RTIMe?
IMIN|MAX
TRAN:RTIMe? TRAN:RTIMe? MIN TRAN:RTIMe? MAX
<NR3>

[SOURce:]TRANsient:LTIMe

[SOURce:]TRANSsient:FTIMe <NRf+>
digit| MIN|MAX
s
TRANSsient:FTIMe 500ms
TRANSsient:FTIMe?
IMIN|MAX
TRAN:FTIMe? TRAN:FTIMe? MIN TRAN:FTIMe? MAX
<NR3>
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2.2.7 MEASure

MEASure:VOLTage[:DC]?

MEASure:VOLTage[:.DC]?

<NR3>
MEAS:VOLT?

MEASure:CURRent[:DC]?

MEASure:CURRent[:DC]?

<NR3>
MEAS:CURR?

MEASure:POWer[:DC]?

MEASure:POWer[:DC]?

<NR3>
MEAS:POW?

MEASure:RESistance[:DC]?

MEASure:RESistance[:DC]?

<NR3>
MEAS:RES?
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2.2.8 INPut
INPUt[:STATe]
ON/OFF

INPUt:SHORt[:STATe]

INPut:PROTection:CLEar

3720A 3721A SCPI

INPUt[:STATe] <bool>
ON|OFF

INP ON
INPUt[:STATe]?

INP?
<NR1>0=OFF 1=ON
INP:SHOR CURR:PROT

INPut:SHORL[:STATe] <bool>
ON|OFF

INP:SHOR ON
INPUt:SHORL[:STATe]?

INP:SHOR?
<NR1>0=OFF 1=O0ON
INP:STAT

(OC,0V,0P,0T,RV)

INPut:PROTection:CLEar

INP:PROT:CLE

ARR372X_TAC_J_SCPI

CURR:PROT[.LEV] CURR:PROT:DEL CURR:PROT:STAT
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INPut:VOLTage:ON

Von

INPut:VOLTage:ON:LATCh

Von

3720A 3721A SCPI

INPut:VOLTage:ON <NRf+>
IMIN|MAX

\%

INPut:VOLTage:ON 10

INPut:VOLTage:ON?

INP:VOLT:ON?

<NR3>

INP:VOLT:ON:LATC

Von

ON

INPut:VOLTage:ON:LATCh <bool>
ON|OFF

INP:VOLT:ON:LATC ON
INPut:VOLTage:ON:LATCh?

INP:VOLT:ON:LATC?

<NR1>0=OFF 1=O0ON
INP:VOLT:ON
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2.2.9 LIST
LIST[:STATe]

LIST:CLEar

LIST:NUMber

ON OFF

3720A 3721A SCPI

LIST[:STATe] <bool>

on|off

LIST[:STATe] on LIST[:STATe] off
LIST[:STATe]?

LIST?
<NR1>0=OFF 1=ON

LIST:CLEar

LIST:CLE

LIST:NUMBer <NR1>
0 6
LIST:NUMBer 0
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LIST:MEMO

LIST:ADD

LIST:INSert

LIST:EDIT

3720A 3721A SCPI

LIST:MEMo “<aard>"
0x20 Ox7f
LIST:MEMo “ARRAY”
LIST:MEMo?

<aard>

LIST:ADD <aard>, <NRf>, <NRf>
CCL|CCHICRL|CRMI|CRH|CV, [IMIN|MAX,
|AIVIQ[s( )
LIST:ADD cch, 1A, 1s

LIST:INSert <step>, <aard>, <NRf>, <NRf>
1 50,CCL|CCHI|CRL|CRM|CRH|CV, [IMIN|MAX,
IAIVIQIs( )
LIST:INSert 2, cch, 2A, 1s

LIST:EDIT <step>, <aard>, <NRf>, <NRf>
1 50,CCL|CCHI|CRL|CRM|CRH|CV, [IMIN|MAX,
IAIVIQIs( )
LIST:EDIT 2, cch, 3A, 1s
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LIST:DELete

LIST:DELete:ALL

LIST:COUNt

LIST:CHAIn

LIST:SAVe

3720A 3721A SCPI

LIST:DELete <step>
1 50

LIST:DELete 2

LIST:DELete:ALL

LIST:DELete:ALL

LIST:COUNt <NR1>
0 65535

LIST:COUNt 10

LIST:COUNt?
<NR1>

LIST:CHAIn <NR1>|<aard>
0 6|OFF

LIST:CHAIn 1

38

ARR372X_TAC_J_SCPI



3720A 3721A SCPI

LIST:SAVe

2.2.10 TRIGger
TRIGger[:IMMediate]

*TRG

TRIGger[:IMMediate]

TRIG:SOURCE

TRIGger:SOURce

o BUS GPIB <GET> *TRG
o EXTernal

+Trigger

TTL
o HOLD TRIGger:IMMediate

*TRG

TRIGger:SOURce <aard>
BUS|EXTernal|HOLD
TRIGger:SOURce?

<aard> BUS|EXTernal|[HOLD

TRIGger:FUNCtion

TRIGger:FUNCtion <aard>
Tran|List
TRIGger:FUNCtion?

<aard>Tran|List
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2.2.11 CV:CURRent:LIMIt

ARR372X_TAC_J_SCPI

3720A 3721A SCPI

CV:CURRent:LIMIt <NRf+>
‘MIN:MAX

A

CV:CURRent:LIMIt 20A

CV:CURRent:LIMIt?
IMIN:MAX

CV:CURRent:LIMIt? CV:CURRent:LIMIt? MIN CV:CURRent:LIMIt? MAX

2.2.12 BATTery
BATTery[:STATe]

BATTery:VOLTage:OFF

<NR3>

BATTery[:STATe] <bool>

on|off

BATTery[:STATe] on BATTery[:STATe] off
BATTery[:STATe]?

BATT?
<NR1> O0=OFF 1=ON

BATTery:VOLTage:OFF <NRf+>

IMIN|MAX
\%
BATTery:VOLTage:OFF?
IMIN|MAX

BATT:VOLT:OFF? BATT:VOLT:OFF? MAX BATT:VOLT:OFF? MIN?

<NR3>
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3720A 3721A SCPI

BATTery:DIScharge:CURRent

BATTery:DIScharge:CURRent <NRf+>
IMIN|MAX
A
BATTery:DIScharge:CURRent?
IMIN|MAX
BATT:DIS:CURR? BATT:DIS:CURR? MAX
<NR3>

BATTery:CAPACcity?

BATTery:CAPAcity?

BATT:CAPA?

<NR3>

BATTery:TIME?

BATTery: TIME?

BATT:TIME?
<NR3>
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3720A 3721A SCPI

2.2.13 ABORt
[:LEVel]: TRIG( CURR:TRIG )
ABORt
ABORt
ABOR

CURR[.LEV:]:TRIG VOLT[LEV]:TRIG RES[:LEV]:TRIG
STAT:OPER:COND?

2.2.14 STATus

STATus:QUEStionable[:EVENTt]?
10

STATus:QUEStionable[:EVENTt]?

STAT:QUES?
<NR1>

STATus:QUEStionable:CONDition?

STATus:QUEStionable:CONDition?

STAT:QUES:COND?
<NR1>
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STATus:QUEStionable:ENABIe

QUES

STATus:QUEStionable:ENABIe <NRf>
0 65535

*PSC

STAT:QUES:ENAB 64
STAT:QUES:ENAB?

<NR1>

*PSC

STATus:OPERation[:EVENTt]?

STATus:OPERation[:EVENt]?

<NR1>

STATus:OPERation:CONDition?

STATus:OPERation:CONDition?

<NR1>
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STATus:OPERation:ENABIe

OPER

2.2.15 SYStem
SYSTem:ERRor?

20
1 FIFO
2 20
20

*RST

3720A 3721A SCPI

STATus:OPERation:ENABIle <NRf>
0 255

*PSC

STAT:OPER:ENAB 128
STAT:OPER:ENAB?

<NR1>

*PSC

20

350

20

No error *CLS

SYSTem:ERRor?

<NR1>, <AARD>
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3720A 3721A SCPI

SYSTem:VERSion?
V1.00

SYSTem:VERsion?

<AARD>, <NR2>

SYSTem:REMote

GPIB

SYSTem:REMote

SYSTem:LOCal

SYSTem:LOCal

GPIB

SYSTem:LOCal

SYSTem:REMote
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3720A 3721A SCPI

2.2.16 MODE

MODE

cC CCL CCH

CR CRL CRM CRH
CcVv CcVv

CP CPC CPV

MODE <AARD>
CCL|CCH|CRL|CRM|CRH|CV|CPC|CPV

MODE CCL

MODE?
<AARD> CCL|CCH|CRL|CRM|CRH|CV|CPC|CPV
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ARR372X_TAC_J_SCPI

-103

-104

-108

-113

-123

-131

-170

-210

GPIB

-221

LIST

-222

-223

-330

-6XX

-350

20

*CLS

-410

*RST

-440
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3720A 3721A SCPI

4,
SCPI
0 CAL
1 WTG
0 VF
VF  INT:PROT:CLE
1 ov OV/OF
OV/OF INT:PROT:CLE
2 ocC ocC
(PS: )

OC/PS INT:PROT:CLE

3 OP OP/PS
OP/PS INT:PROT:CLE
4 RV
RV/IVF RV
VF

INT:PROT:CLE
5 oT

OT/PS PS INT:PROT:CLE
6 CcC
7 cVv
8 CcP
9 CR
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13 PS
PS INT:PROT:CLE
0 OPC *OPC
2 QYE
-499 -400 QYE
3 DDE
-399 -300 DDE
4 EXE
-299 -200 EXE
5 CME
-199 -100 CME
7 PON ON
3 QUES
QUES
4 MAV
5 ESB
ESB
6 MSS RQS RQS(
*STB? MSS( )
7 OPER
OPER
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3720A 3721A SCPI

condition event enable
VElo 1o | o |l
OMa1 1 1 |
Q2 | {2 | {2 |,
ORs | |3 | |3 [
Rfa | o | |a | o
Ofls | |s | |s [ 6
C6 | |6 | |8 [ 1
M7 17 L7 e
CPlg | 1s | |8 |,
CRg | 1o | ]9 | 4]0
DU fl {10 |10 R
LT I © I N O O A I ) BN
nY g2 [ f12 [ 12 |,
PSl 13| |13 | |13,
DY 44 | [14 | |14 | )
nu 45 | J1s5 | |15 [,
T
[STATus:QUEStionable:CONDition?]
[STATus.QUEStionable[. EVENt)2}———
STATus:QUEStionable:ENABle<Value>
STATus:QUEStionable:ENABle?
» STATUS
condition event enable STATUS BYTE
CAL| o | fo L Jo 4|1t BYTE ENABLE
WIG + [ {1 | {1 |0 NWo | 1o |4lL
nuao | 12 | 12 |6 nul g |11 [ Jlo
%3 L13s 13 Le! ny 2 | 12 e
nu 4 | la | Ja [ Jc QUES| 3 | |3 [ ]
nus | s [ 1s | MAVI 4 | 14 | Jc
nue | e | 16 |40 ESBl s | |s |,
nuz | 17z L1l7 LR RQS| ¢ 8 o
1 OPRl 7 | |7 LR
[STATus:OPERation:CONDition?| I
[STATus:OPERation[: EVEN]?}——— Senial Poll(spoll)
STATus:OPERation:ENABle<Value>| *STB?
TATus:OPERation:ENABle? *SRE<value>
*SRE?
event enable
OPClo | 1o [t
LU N I T R Y
QYEl ; | |2 | |6
DDE| 5 | |3 [,
EXEl 4 | |4 | lc
CME| 5 | |5 | ]
nug | s |0
PONl 7 | 17 L,IR
=] *ESE<Value>
EESR?} : ] *ESE?
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